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We do not establish it according to an individual - j392p1 X% N7

Overview!

82w explained why in the 712w he can be w191 the im1nn and deduct it from the loan,
even though the 77> did not receive it, is because the mawn follows the ruling of "
"0v, who stated that 72172 7217 1°XW Wwv.2 The X3 said that HR1wn 27 disagree with
X7, for we do not establish a mawn like a 7o (meaning >0 ). MdOIN reconciles our
X3 with a seemingly contradictory X na.

Mmoo responds to an anticipated difficulty:
= 35099 5295 (x,20 97) NP8 N2AT NP P93 P09 HNMWT 2) by 9N

Even though that Xy ruled in the first 2 of »''2 noon like o1 ' -
= NI NN ININRY NN VYT

That the 0°nor occasionally made one who did not acquire something as if he

acquired it, so what is the difficulty with establishing our mwn according to ", since XY
maintains that the 7577 is like *"1 —

mooIN responds:
13295 1929X 1PNINN NPINY NY 9AN0N DIPN YN

Nevertheless X1 finds it more logical to establish our 1w» even according to
the 3129 who do not maintain 77112 7917 11RW WY.

Summary
It is preferable to establish a 71wn according to the 2°27, rather than establish it

according to 7, even though he is accepted 712775.

Thinking it over

Can we differentiate between the case in n"2 (regarding the juP) where X rules
79112 797 1°RW Wy, and the case in our 71wn where perhaps we do not say 11Rw WY
oM 2!

!'See ‘Overview to the previous 2»2 7"7 '0N.

2 See wy "7 "wA.

3 The ®n»"2 there states that if one hires a worker in a field, the son of the worker may pick up the gleanings (vp?)
which falls down. *"1 ruled that this rule applies even if the worker receives a share of the harvest (which makes him
an owner). The & 13 there concludes that even though a jup cannot be 71511 but in this case 7213 17217 1°RW DX WY, so he
is gathering the vp> for himself, not for his father.

4 See X1 1" X,2° 12 NDOIN.
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